BFa2=T7o8 (PJLaO0-<>RP1)L)

| 96 kgik
1 B MAX(ELTEKXE)

3-0(0-0, 3-0)

2 BARAER (RFKRFE)

TF1P2’ 44 (8-0)

3 I E ZEM(KEREEXRF)

TF1P1’ 40 (8-0)

4 HEO RR(KRERSUEKRTF)

F1P1" 13 (5-2)

5 A4R MR (FIFLIEFR)

TF2P4’ 07 (2-4, 0-6)

6 RE BA(BAKREKRF)

F1P2' 26 (4-2)

7 A BE(BHRILUKEF) 2-0(2-0, 0-0)

8 K 2l (BiaKTF)

4-7(0-5, 4-2)

9 i FIR(ELEEXF) F1P2’ 28 (6-0)

10 RiEDP 5L (FEIEARTF)

TF1PO’ 38 (8-0)

11 FE[R [ERESEEMRAE)

TF2P4' 57 (4-4,10-1)

12 07T SR(BRLLFEBERTE)

TF2P3' 25 (11-4, 2-0)

13 AR BE(AESULAZ) F1P1 05 (1-0)

14 R ERERUEERF)

| 120 kg#k
1 B $FrRIEARE)

) % || EDL_:F-:EEFI:-—IJ__{»-\-‘.B-:*Ha
3 £k ERP(EEEREASF)

TF1P1" 18(9-0)

TF1P1" 37(9-1)

4 TEF REL(FE) 1K) T

5 it IR (CRIERF)

TF1P0’ 59 (10-0)

6 B FEXR(UEFFRAT)

7 PEE-EEEAS) ax

0-6 (0-6, 0-0)

8 #A)l| AR (PRFEHRATF)

F1P1' 04 (5-0)

9 R EE(RRAT)

1-0(0-0, 1-0)

10 B B (LLFFFRKFE)



